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PHYSICAL EDUCATION
PAPER —1I

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1.  The olympic games are a legacy of the golden past civilization of :
(A) Greek (B) Rome (C) France (D) Germany

2. The term ‘Athlete” originated in :
(A) France (B) Sparta (C) Rome (D) Athens

3.  The olympic games in 2008 will be held at :
(A) Athens (B) Barcelona (C) Beijing (D) New Delhi

4.  Accelerated physical growth is the result of :
(A) Biochemical change (B) Harmonal change
(C) Metabolic change (D) All of the above

5.  The knowledge of Age and Sex difference is important :
(A) To structure physical activities programme
B) To organise physical activities programme

(
(©
(D)

To consider social factors

D) All of the above
6.  Health education is multidisciplinary in nature and its contents are drawn from :
(A) Biological science (B) Medical science
(C) Behavioural science (D) All of the above
7.  The direct source of energy for muscular contraction is :
(A) glucose (B) vitamins (C) proteins (D) fats
8.  Muscle’s lactic acid can be removed after the exercise with in :
(A) 20 Minutes (B) 2 Days
(C) 3 Hours (D) 60 Minutes
9.  Macro trauma is :
(A) Blow to previous injured tissue (B) Blow on healthy tissue
(C) Repeated sub-maximal trauma (D) None of the above
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10. Match List-I with List-II and select the correct answer using the code given below :

List-1 List-11I

(a) Esophagus (@)  Circulatory system

(b) Pharynx (ii) Nervous system

(c) Cerebellum (iii) Digestive system

(d) Capillaries (iv) Respiratory system

Codes :
@@ (b) (o) (d)

A) i) (v @ 0

B () ) 0 @)

© (@) () () @

D) (v O @) (i)

10. Match List-I with List-II and select the correct answer using the code given below :

List-1 List-1I

(a) Supination (i) Turning palm upwards

(b) Pronation (i) Movement towards middle of the body

() Abduction (i) Movement away from middle of the body

(d) Adduction (iv) Turning palm downwards

Codes
(@ (b) (o) (d)

@ O (v G G

B () ) 0 )

© O (v @) (i)

D) @) () () ()

12. Match List-I with List-II and select the correct answer using the code given below :

List-I List-I1

(a) Double fault (i) Hockey

(b)  Scoop (i) Tennis

(c) Let (i) Badminton

(d) Checkmate (iv) Chess

Codes
(@ (b) (o) (d)

@A) (v @) 0 G

® O ) ) (i)

© (Gi) () 0 @)

D) () O @) @)
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13. Match List-I with List-II and select the correct answer using the code given below :

List-1I

Musclefiber Testing
Cardiac cycle

Height Measurement
Skin fold Measurement

14. Match List-I with List-II and select the correct answer using the code given below :

List-11

The volume of air inspired or expired per
breath

A major fraction of the total lung capacity
The amount of air we either exale or inhale in
one minute

The air remaining in the lungs after a complete
exhalation

15. Match List-I with List-II and select the correct answer using the code given below :

List-I
(a) Stadiometer
(b) Caliper
(c) Electro Cardiogram
(d) Biopsy
Codes :

(@ () (9
@A) (v) @) (i)
B i) O )
© (i) (v) ()
D) @) (i) (

List-1
(a) Vital capacity
(b) Minute Ventilation
() Residual volume
(d) Tidal volume
Codes :

(@ (b) (9
A) () @) ()
B () @) (
© (@) () (
D) ) O (

List-1
(a) Volley ball
(b) Basket ball
() Tennis Test
(d) Foot ball
Codes :

(@) (b) (9
@) O ()
B (v) () (
© (i) @)
D) () @v) G

J—4705
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(A) (v) () (D) (D)
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@@ (b) (9 (d)
(A) @) () (@) (D)
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i1 eii-11
(a) dfeitere () SR faer
(b)  STERISTA (i) HeHSHES
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@@ (b) (9 (d)
(A) @  (v) @) (i)
(B) (v) (i) (@) (i)
Q) @) (@) (v) ()
(D) G) (@Gv) @ (i)
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16. Match List-I with List-II and select the correct answer using the code given below :

List-I List-1I
(a) Creatine phosphate (i) Metabolism of carbohydrates
(b) Hexose phosphate (ii) Found in muscle sugar
(c) Protein (i) Anaerobic source of energy during muscular
contraction
(d) Fats (iv) In the form of lecithin in the muscles
Codes :
(@ () (o (d)
(A) (v) (@) @ (i)
(B) G) @@ @) ()
© @ (v) (@) (i)
(D) @) @)  (v) (i)

17. Match List-I with List-II and select the correct answer using the code given below :

List-1 List-1I
(a) Therapeutic Recreation (i) Business
(b) Commercial Recreation (i) School and College
(¢) Industrial Recreation (iii) Hospital
(d) Institutional Recreation (iv) Amusement
Codes
(@ (b) (o) (d)
@A) (@) (v 0 (i)
® (v ) @ 0
© @) (v O )
O () ) @) @)
18. Assertion (A) : Thin persons are more prone to shivering than obese persons
due to cold.
Reason (R) : Thermal conductivity is relatively high in sub cutaneous fat
because it is not well vascularized.
(A) Both (A) and (R) true
(B) (A) is true and (R) is false
(C) (A)is false and (R) is true
(D) Both (A) and (R) are true but (R) is not correct explanation
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16.

17.

18.
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19.

20.

21.

22.

23.

24.

25.

Assertion (A) In second class lever arrangements, a force advantage usually

exists for the motive forces.

Reason (R) : Less motive force need be applied to move a greater resistance.

(A) Both (A) and (R) are true

(B) Both (A) and (R) are true but (R) is not a correct explanation

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Assertion (A) : In league tournament the ‘byes” are given in a sequential order.

Reason (R) : In the elimination tournament with four quarters the ‘byes’ are
given in Quarter I, Quarter II, Quarter III and Quarter IV order.

(A) Both (A) and (R) are true but (R) is not correct explanation

(B) (A) is true but (R) is false

(C) (A) is false but (R) is true

(D) Both (A) and (R) are true

Which one of the following pair is correctly matched ?

(A) Anatomical Age - Classification of bone

(B) Physiological Age - Intelligence test

(C) Mental Age - Secondary sexual characteristics

(D) Chronological Age - Calendar year

Which one of the following pair is not correctly matched ?

(A) Pronation and Supination (B) Agonist and Antagonist

(C) Proximal and Distal (D) Muscle and Tissue

Which one of the following pair is not correctly matched ?
(A) Organ and system (B) Heart and Lungs

(C) Bone and Tissue (D) Liver and capillaries

The Aerial Tumbling is the best example of a projectile principle for :
(A) Accuracy (B) Frequency (C) Distance (D)

Which one of the following is correct ?

(A) Pie-chart, histogram, bar-diagram, graphical representation

(B) Range, quartile deviation, average deviation, mean
(C) Type I error, Type II error, nul-hypothesis, linear regression
(D) Normal scale, ordinal scale, ratio scale, ‘t'test
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19.

20.

21.

22.

23.

24.

25.
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26. Olympic venues are given below, give the sequential order of their respective mascots :
(i) Montreal
(i) Moscow
(iii) Los Angeles
(iv) Atlanta
Code :
(A) Misha, Amik, Sam, Lzzy

(B) Sam, Misha, Lzzy, Amik
(C©) Amik, Misha, Sam, Lzzy
(D) Misha, Lzzy, Sam, Amik

27. The short description of statistical measure like ‘t’ test, linear regression, standard
deviation and mean are given below. Give the correct order of citation by using code.

(i) Relationship between two variable
(i) Measure of dispersion
(i) Measure of Central Tendency

(iv) Test of significance

Code

(A)  (iv), (i), (1), (iii)
(B) (i), (ib), (i), (iv)
(©) (), (), (i), (iii)
(D) (i), (iid), (ii), (iv)

28. The muscle contractions used in different Training Methods are given below and the
name of the muscle contractions are given in code. Find the correct sequence.

(i)  The tension developed by the muscle as it shortens at constant speed is maximal
at all Joints angle’s over full range of motion.

(i) Muscle shortens during contraction at constant tension.
(iiiy Muscle contracts without changing its external length
(iv) Muscle lengthens while contracting

Code :

(A) Isokinetic, Isometric, Excentric, Isotonic

(B) Isotonic, Isokinetic, Isometric, Excentric
(C) Isometric, Isokinetic, Excentric, Isotonic
(D) Isokinetic, Isotonic, Isometric, Excentric
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26.

27.

28.

STtk & ST M e feu T E, 37 e 1 FHas €9 § foad |
(@) e

(ii) TR

(i) E TfTed

(iv) ST

(A) Tiem, sifiyes, 3, St
(B) Im, fiem, i, stfhes
(C) ifhen, fiem, dm, S
(D) fiem, S, ¥m, stfies

i W9 o ged faaron S 3 o, AR fonm, ©eg SifausH qur /4 9 fag )
TTRT Wl HH F H1 TN HW g SN

() < IRfo & A TER qE

(i) 3Tqaden fafimrmr

fafiwe wfneror faferll & v Aieteia Gg=m == fou 7 € qen igusi= Gg=e & " Fe o

feu e g1 W& HH e w

(i) TR HAifee gee % T BFue S1d 2 U HHE Sel 3 v W ol e et
U7 et 2|

ii) TR <99 % Jd WA & GU /i ueh fage e €

) for ST oieE seet WIAUSE e e B

iv) HHad & GUF HIGUST ol e S 2|

A)  SIFHIEREAR, ABEHAIR, THIfH, s
B) ST, STEHIRE(CH, HEHHIH, TR,
) 3TEHMfeR, SR, THifzH, SR
D) STk, g, AgHmiss, TR,
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29.

30.

Given hereunder are the physical education courses being imparted for professional
preparation in India. Find out the correct sequence of their controlling bodies using the
given code :

(i) C.P.Ed.

(i) B.P.E.

(i) Diploma in coaching
(iv) M.P. Ed.

Code :

(A) State Education Board, N.C.T.E., S.A.I, University
(B) University, N.C.T.E., State Education Board, S.A.L
(C) S.AL, University, State Education Board, N.C.T.E.
(D) State Education Board, University, S.A.I,, N.C.T.E.

The Intramural committee consists of :
(i) Intra-mural Manager

(ii) Intra-mural Director

(iii) Intra-mural Secretary

(iv) Assistant Manager

Code :

(A) (i) and (iii) are correct

(B) (ii) and (iii) are correct

(C) (ii), (iii) and (iv) are correct
(D) (i) and (iv) are correct

Read the passage below and answer the questions no. 31 to 35 based on your
understanding of the passage.

“The body must need be vigorous in order to obey the soul : a good servant ought
to be robust. The weaker the body, the more it commands, the stronger it is, the better
it obeys. In order to think, we must exercise our limbs, our senses and our organs,
which are the instruments of our intellicence. In order to derive all the advantages
possible from these instruments, it is necessary that the body which furnishes them
should be robust and sound”.

These are not hollow words or the fiction of an idealist philosopher’s brain : They
are pregnant with a stark reality-a reality which the individuals and the nations must
take cognizance of. Healthy and fit citizen is an asset while a weak person, a liability :
is a truism : the former commands and the latter demands. Realizing that human
efficiency and productivity are very much dependent exclusively on one’s health and
fitness, almost all the countries have been compelled to give adequate attention to this
vitally important aspect of their national life. The importance of health and fitness
through the medium of physical activity can hardly be underestimated in the modern
times, especially when the life style is changing fast as a consequence of pursuit of
materialistic philosophy. Tremendous urbanization and mechanization of daily routines
almost everywhere seem to have resulted not only in “hurrying and scurrying” but
also de priving people of natural vitality, vigour, muscular power and prowess so
essential for a purposeful life.
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29.

30.

TR H S| TR 3 T S a6l b e few T E 1 IS 1 HE A G AR
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() wHdTe

(i) dE
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(i) T HeRTd Wi

(iv)  3d:Hh[E HE-Yoreh
<.

(A) (i) 3R (iii) T &

(B) (i) 3 (iii) W& €

(C) (i), (iii) o (iv) & &

(D) (i) 3R (iv) T& &
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e el |
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fore, g oTu 3T o1 HaTer AT Sl ©, Sl SR UfaHT o SURH € | 9 9R SUIeHI & Ferfaa
Y UH FH & fou, g AferE € fF TR, SS9 "eashl gufed &l €, 3 9t SueH
sTcfier wifemett SiR T =i |~

3 Gt gl ves TE € 7 & A I SAevar! iRl % G i sedfen wRiE § 1 3
[oft Strera Fared @ W E, T gene o =afth R uy o iy S =nfey, fSed 92 qar <o @ fw
Teh el 3IR eTH AN, Wk 1 21 § 5761 o U wHsik =af Ueh siigl oF ol & — I8 99
T T ST AT TET AT B | TG WA AT o A Y &7t 1R Sedeehar I
freR o €, forgt =afeha o Tamee SR SUT &T9a1 W E: Tt ¥ S T8I SieH o 39 fove
3R HeaqUl Uge] W A &AM T &% faw w1 ¥
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The World Health Organisation (WHO) has set a target that every person in the
world should become health conscious by 2010 AD and it is a right step in the attainment
of health for all. The International Olympic committee has signed an agreement with
WHO for furthering the cause of health for all and sports for all by 2010 AD. This
agreement is clearly directed towards attaining total fitness of all individuals by 2010
AD. To attain this objective the citizens of the nation are to be made health and fitness
conscious and for this purpose scientific programmes and criteria to evaluate fitness
are to be formulated to cover all individuals belonging to both sexes and of all ages .

Physical fitness and wellness are one’s richest possessions: They cannot be
purchased, they are to be earned through regular and systematic fitness programme
and positive lifestyle habits. Physical fitness is the capacity to carry out reasonably well
various forms of physical activities without being unduly tired.

31. The main theme of the passage :
I)  Physical fitness
II) Wellness
III) World Health Organisation
IV) International Olympic Committee
Code :
(A) II and III are correct
(B) IandII are correct
(C) I, IIand IV are correct

(D) TIand IV are correct

32. The quotation cited in the beginning of the para is propounded by :
(A) Charles A Bucher (B) Aristotle

(C) Plato (D) John Dewey

33. Realization of human effeciency and productivity are dependent exclusively on :
(A) Exercise and body (B) Wellness and mind

(C) Dalily rountine and life style (D) Health and fitness
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31.

32.

33.

T 31 &7l 1 e, ST od: IRk Tfafaferi & arean @ & sucrsy e S g,
T YR g o FH Fh e qiewd & Tl , o1d 59 R fifideRar & S9F % wRo
Site el T €9 ol o WY T9F % STTHR Ferd! o7 Bl 8| U S hal Hioor Sredieho
3R ek TAHHT 1 AAHTRLT hl IROTH Fefet ‘MR H Bl € feh 59 T & AT b
Wiepfes wmed, ui, Afes wf qen g/ <erm ¥ g9 g = W1 ® € S a&a: Hefd
Site % fore sifamd )

fova W 97 (S, U=.80L) A T @ied TR foren € fF fowa o1 v =t
2010 T, Sl Toh TeA o Ul SIFTEeh o ST a1 Feloh 375 TR i Sqaifsd o fall I8 S
T HE A

STRIP Sicfres wfifd ¥ gseg o, 30, % WY Tk e R geder foran ® fem 2010
TS T T W@ed a1 o fow e 1 o1d 81 39 3299 & U wE ok faw 9y 6
TRTRERT o1 el iR &l o Ufd ST oAW1 SFT a9 39 3ev i gfd < fore denfes
TS T &l o Jedich o T AMQUE oM TSl St famreg fordl for, eft 3w o A=l &l
TS Y B |

YRR &HaT SR e forelt oft 7y & T wfh/Suafer €, 3 wlar T S
Hehal, S TATHd TR HHaG AN &TTa1 & HRIHHT o H1ea™ § a1 Sita Jelt i Fhres
3Tl o WY ¥ IUIfSia fohan S Tehd! &1 SATeh amn aqa: Sidifes nfafafei = fom
oJeRTae & Thafad & 1 & B |

TN g fave :

) IR &

) el

I11) foree womed Hoed

AT WA G

> 8 2

) 11 SR S T
13RI &

) L IISIRIV & &
) 13RIV 9@

B
C

~—"

(
(
(
(

)

3TTeE o URE H o T3 35 & Wi ¥

(A) =MH T I (B) 3T
Q) wi (D) S Sreft

TS &THAT AT STEehal shi UIfe 7R et & -
(A) M q1 TR (B) EoITEey eIl Hi&TSh
(C) feT=mt den e wgfa (D) TS 1 &l
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34. The target of world Health organisation (W.H.O) is :
(A) Health for all (B) Sports for all
(C) Fitness for all (D) Both (A) and (B)

35. The richest possessions of human beings which cannot be purchased :
(A) Physical fitness (B) Wellness
(C) Physical fitness and wellness (D) Life style

36. The chronological order of appearance of the following is given in code. Select the
right answer :

() Common wealth Games

(I) Asian games

(III) Arjun Award

(IV) Rajiv Gandhi Khel Ratan Award
Code:

(A) 1991, 1951, 1961, 1930

(B) 1950, 1961, 1930, 1991
(C) 1930, 1951, 1961, 1991
(D) 1930, 1991, 1961, 1950

37. A.ID.JS, is transmitted through :
() Insect bite

II

I

Blood transfusion

~

II) Body contact
V) All of the above

I and II are correct

Bi—l

B
C

I and III are correct

~—"

IT and III are correct

ga

(
(
(
(
(
(
( I, IT and III are correct

38. The word ‘movere’ is associated with :
I)  Arousing action

I) Agression

I) Motivation

IV) All of the above

A) L 1II, and III are correct

B) Iand II are correct

II and III are correct

I and III are correct
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34. Tova e G (T, THLN.) H AT T
(A) w9 & foau @ (B) Haeh faw @&
(C) Terh fa it aman (D) <M (A) e (B)

35. THA i HAIE SUcoHal fore TlieT Tel T Hehel :
(A) i & (B) Wifien TameeEd
(C) fe &vdl U Ui @eerar (D) Sfiad dgid

36. Trfafed o d=iia uiF s § foar T B 1 98 S|A g ¢

() TgHedE @a

(1) TREE =d

(1) WW

(IV) TShe et T T qERR

%s:

(A) 1991, 1951, 1961, 1930
(B) 1950, 1961, 1930, 1991
(C) 1930, 1951, 1961, 1991
(D) 1930, 1991, 1961, 1950

37. Usd fng Aem @ i B e

(I) IS % HeA |

(1) T T R

(1) STk gwery |

(IV) STs a+ff 9

%S

(A) T13RIuE

(B) 13RI w& &

(C) IISIRII T &

(D) I, 11 SR W&t €

38. OV VS 1 FRE % WY HEY ¥ 2

() IStk 36

(I)  STHH

(III) 3o

(IV) ST |+t

(A) 111301 T §

(B) I1demIl Tel §
(C) 1T I T&t &
(D) 1qemIl W& &
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39.

40.

41.

42.

43.

44.

45.

46.

The cognitive intervention strategy to improve performance does not include :
(A) Autogenic training (B) Mental Rehearsal
(C) Self talk (D) Imagery Training

Transfer of Training is :

(A) Learning new situation in Industry
(B) Learning from environment

(C) Verbal learning in different kinds of situation
(D) Use of all learning from the situation to a new situation

The other name of Pavlovian conditioning is :

(A) Operant conditioning (B) Classical conditioning

(C) Instrumentel conditioning (D) Response - Response learning

Load has a complex effect on the performance of :
(A) Young Children (B) Adolescents
(C) Elite Athletes (D) Adult

In case of elite athletes periodization is not characterised by :
(A) Shorter preparatory periods (B) Longer competition periods

(C) Multiple periodization (D) Lower number of Competitions

The first step in the treatment of Sports Injuries is :
(A) Cryotherapy (B) Hydrotherapy
(C) Electrotherapy (D) Thermotherapy

Which one of the following is man-made health hazard :
(A) Radioactive radiation (B) Forest fire
(C) Land slides (D) Cyclones

Mc. Donald test is used in :
(A) Lawn Tennis (B) Volley ball
(C) Soccer (D) Basket ball
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39.

40.

41.

42.

43.

44.

45.

46.

TR SeM ¥ SIS S A § @ witnfad T8 ¢ 2

(A) ST Ffdeqor (B) HHE® A
(C) el (D) fdfafiad st
FRT&TOT SR 1 © 2

(A) T H Tl 3Teed Hie
(C) Wi die fafve staensii

B) SR | W
D) YU WG Rl el stee § 9EnT

—_~ o~

T
Yol % STIher 1 gHY A9 T

(A) HBha AR (B) EEAMYA 3Tehe

(C) HeMEeH 3Tehetd (D) TR - IHHAT g e

IR 1 forder Tefdia W fafsq g Tear ® 2
(A) BRIA W (B) el W
(C) = Wi faanfedi W (D) R

Hatchy Taenfedl & Hed § Hrafaurs = i fowaneti § w1 afimfead g 2

(A) oY IR I (B) v wfereqe et
(C) g WS Hiel favSeh =6 (D) ogd & oSl yfaeasie
A it =1 o Fafhe § gdyem 92 €

(A) HEE  (B) eEANWR (C) Torw 9ud (D) ol S

frefafad § R O 99s Fod e o me § 2

(A) fomreTiyer Feuem (B) o 3
(C) el Targer (D) =had
HeheHIeS S5 1 AN &Il & :

(A) @Md™ (B) WA (C) W (D) dTEheaTd
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47.

48.

49.

50.

The muscle developed by anaerobic exercise in early childhood is :
(A) Stronger (B) Shorter
(C) Spherical (D) All of the above

French short service test is used in :
(A) Table Tennis (B) Badminton

(C) Volley ball (D) Tennis

The most effective methods of teaching physical education skills is :
(A) Imitation method (B) Trial and Error method

(C) Demonstration mehtod (D) Mirror method

If Student commits mistake teacher should :
(A) Reprimand (B) Punishment

(C) Complaint to parent (D) Guide and counsel

HA AN R

J—4705 22



47. YR e | TARIfSe =M § faesfad g9 arel wieust

(A)  #STqd (B) =&
(C) T (D) IHE Feft

48. = I GieH 2 K1 59 forad B € 2
(A) faa g (B) defiA
(C) dreitaTe (D) <f1|

49. Ifiew faren & shivrel Hied i geiy fafa §

(A) R fafy (B) o wd e fafy
(C) u=iA fafu (D) wfafee= fafy

50. afe fomeft Tordt e € @ feres @ 9o e =fe 2
(A) i =en (B) <fed e =nfeu
(C) - & frhrer et =ty (D) HATIGEH TS WSl <A1 16T

Hd HkE EX
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Space For Rough Work
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